DATASHEET ¥ Tecn osystemi

rev. 00 - 06/11/2023

— |
MADE IN ITALY

SBR EXTREME 100-8

vulcanised rubber vibration-resistant floor base

- cod. 11105060 - cod. SCD500237 - cod. SCD500238
- cod. 11105066 - cod. 11105068

TECHNICAL SPECIFICATIONS:

* Floor bases in SBR vulcanised rubber

« "U" shaped aluminium profile is sunk for better sealing

* Built-in spirit level

« Fastening with nut, washer and M8 bolt supplied

« Slots ready for drilling holes for fastening to the floor

* Non-slip, water-draining resting base in armed body

« Ideal for the fastening of outdoor condensing units, VRV-VRF, base-mounted boilers, electrical or tube channels

Tecnosystemi S.p.A. - Societa Benefit | www.tecnosystemi.com .
Plant 1: Via dell’Industria, 2/4 - Plant 2: via Caduti del Lavoro, 7 - Plant 3: via Caduti del Lavoro, 5 S m art CI | ma

Z.l. San Giacomo di Veglia 31029 Vittorio Veneto (Treviso) - Italy
Phone +39 0438 500 044 | Fax +39 0438 501 516 | n. verde 800 904474 (only for Italy)

Accessories for Air Conditioning




DATASHEET 1] ech osyste_qm !!

DIMENSIONS

CODE A[mm] B [mm] C[mm] LOAD CAPACITY [kg]
11105060 250 140 95 200
SCD500237 450 140 95 300
SCD500238 600 140 95 500
11105066 1000 140 95 650
11105068 1200 140 95 750
ITEMS

CODE DESCRIPTION

11105060 SBR “EXTREME-8" 250 - FOOT MOUNT WITH ALU PROFILE, FIXING BOLT, WASHER AND NUT M8
SCD500237 SBR “EXTREME-8" 450 - FOOT MOUNT WITH ALU PROFILE, FIXING BOLT, WASHER AND NUT M8
SCD500238 SBR “EXTREME-8" 600 - FOOT MOUNT WITH ALU PROFILE, FIXING BOLT, WASHER AND NUT M8
11105066 SBR “EXTREME-8" 1000 - FOOT MOUNT WITH ALU PROFILE, FIXING BOLT, WASHER AND NUT M8
11105068 SBR “EXTREME-8"1200 - FOOT MOUNT WITH ALU PROFILE, FIXING BOLT, WASHER AND NUT M8

All rights relating to this publication are the exclusive property of Tecnosystemi SpA.
Tecnosystemi SpA reserves the right to make changes at any time and without notice, for technical or commercial needs.

Tecnosystemi S.p.A. - Societa Benefit | www.tecnosystemi.com .
Plant 1: Via dell’Industria, 2/4 - Plant 2: via Caduti del Lavoro, 7 - Plant 3: via Caduti del Lavoro, 5 S m art CI | ma

Z.l. San Giacomo di Veglia 31029 Vittorio Veneto (Treviso) - Italy
Phone +39 0438 500 044 | Fax +39 0438 501 516 | n. verde 800 904474 (only for Italy)

Accessories for Air Conditioning



http://www.tcpdf.org

